

زمار قتی بنام دیور کارنو تلف شماره ۱۵ دهم (صفر) پنجشنبه

$$\frac{a}{q}, a, aq \quad \frac{a}{q} \times a \times aq = a^3 = 9^3 \rightarrow a = 9 \quad \frac{9}{9} + 9 + 9 = 21 \quad -1$$

$$9 + 9q + 9q^2 = 21q \rightarrow 9q^2 - 12q + 9 = 0 \rightarrow q^2 - 4q + 3 = 0$$

$$q = \frac{1}{9} \quad q = \frac{12}{9} = \frac{4}{3} \quad (q-1)(q-3) = 0$$

غیر صحیح

$$(n^2 + 4)(n^2 - 2) = 9n^2 \rightarrow n^4 + 2n^2 - 8 = 9n^2 \rightarrow n^4 - 7n^2 - 8 = 0$$

$$\frac{1 + \sqrt{1 + 28}}{2} = \frac{1 + 5}{2} = 3 \quad n^2 - 2, 2 \quad n^2 = 4 \rightarrow n = \pm 2 \quad q > 0 \rightarrow n = 2$$

تو

$$1, 4, 16 \rightarrow 5 \sqrt{2} \left(1 - \frac{1}{4} \right)^{\frac{1}{16}} = 16 \times \frac{1}{16} = 1$$

$$a(1 + q + q^2 + q^3 + q^4) = a + aq + aq^2 + aq^3 + aq^4 = 121 \times 5 = 605 \quad -3$$

$$d = \frac{9^5 - 1}{9} = 9^4 = 6561 \quad a + 3d = 1 + 3(6561) = 19684 \quad -4$$

$$\frac{9^5}{1} = 9^6 \rightarrow q = 2 \quad \frac{9^5}{9} = 9^4 \rightarrow aq = 1 \times (2) = 2$$

$$\frac{9^5}{9^2} = 9^3 \rightarrow aq^2 = 1 \times (-2) = -2$$

$$\left. \begin{array}{l} A+B = 32, 5 + 1 \times 90, 5 \\ A+B = 32, 5 - 1 \times 24, 5 \end{array} \right\}$$

$$a \cdot 1 = a + 100d \rightarrow -1^4 + (100 \times \frac{1}{9}) = 1 \quad -\frac{95}{9} - (-1^4) = d = \frac{1}{9}$$

$$a \cdot 1 = aq^4 = 121 \times \frac{1}{9} = 1 \rightarrow q = \frac{1}{121} \rightarrow q = \frac{1}{9}$$

$$a+1d, a+2d, a+3d \quad (a+2d)^2 = (a+1d)(a+3d) \quad -9$$

$$a^2 + 2ad + 1d^2 = a^2 + 1ad + 3d^2 \rightarrow 2ad + 1d^2 = 1ad + 3d^2 \rightarrow 1d(2d+a) = 1d(1d+a)$$

$$2d = 1d + a \rightarrow 1d = a \rightarrow d = \frac{1}{1}a$$

$$a+d, a+2d, a+3d \rightarrow (a+2d)^2 = (a+d)(a+3d) \quad -1$$

$$a^2 + 2ad + 4d^2 = a^2 + 1ad + 9d^2 \rightarrow 2ad + 4d^2 = 1ad + 9d^2 \rightarrow 1d(2d+a) = 1d(1d+9d)$$

$$\frac{d}{a} = \frac{d}{a} \quad aq^2 = \frac{1}{r} \times q^4 \quad 1d, 1d, 1d$$

$$1a, 1a, 1a \rightarrow 1a^2 = 1a + 1a \quad -1$$

$$q^2 - 1q + 1 = 0 \rightarrow (q-1)(q-1) \rightarrow q = 1$$

$$a+1d, a+2d, a+3d \quad \frac{1}{r} - 1 = -\frac{1}{r} \rightarrow d$$

$$\frac{a}{r} = \frac{1}{r} \quad -1$$

$$\left(\frac{1}{r} + 1\right)^2 = \left(\frac{a}{r} + 1\right)(-1 + 1) \Rightarrow \frac{1}{r^2} + \frac{2}{r} + 1 = -\frac{a}{r} + 1 + 1$$

$$\frac{1}{r^2} + \frac{2}{r} = 1 \quad \frac{1}{r} = 1 \quad \frac{1}{r} = 1$$

$$q = -\frac{a}{r} = -\frac{a}{r}$$

$$a, aq^2, aq^4 \rightarrow t, t+d, t+2d \quad \frac{1}{r}(aq^4 - aq^2) = aq^3 - a \quad -10$$

$$1q^4 - 1q^2 = 1q^3$$

$$1q^4 - 1q^2 + 1 = 0 \rightarrow (q^2 - 1)(q^2 - 1) \rightarrow q^2 = 1 \rightarrow q = 1$$

$$a + aq^2 + aq^4 = 1 \rightarrow a(1 + 1 + 1) = 1 \rightarrow a = \frac{1}{3}$$

$$1q^2 + 1q^2 + 1q^2 = 1 \rightarrow 3q^2 = 1 \rightarrow q^2 = \frac{1}{3} \rightarrow q = \frac{1}{\sqrt{3}}$$

$$q = 1 \rightarrow t = 1 \rightarrow \frac{1}{r}, \frac{1}{r}, \frac{1}{r} \rightarrow d = 0$$

$$q = 1 \rightarrow t = 1 \rightarrow 1, 1, 1 \rightarrow d = 0$$